<map mod="race" version="1.0">

  <meta/>

  <options>

    <respawn>timelimit</respawn>

  </options>

  <spawnpoint name="spawnpoint">

    <position>4018.759766 -2428.726318 1.153703</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (1)">

    <position>4042.591064 -2326.921387 11.478173</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (2)">

    <position>4076.476563 -2363.158691 14.469419</position>

    <rotation>261</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (3)">

    <position>4100.554688 -2615.264160 53.618389</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (4)">

    <position>4060.856689 -2615.416504 53.618389</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (5)">

    <position>3988.286133 -2656.789551 14.708640</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (6)">

    <position>4050.459717 -2659.002686 14.502740</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (7)">

    <position>4088.330078 -2658.093506 14.713576</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (8)">

    <position>3953.852783 -2579.870361 38.932766</position>

    <rotation>294</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (9)">

    <position>3970.237793 -2598.146240 38.932766</position>

    <rotation>305</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (10)">

    <position>3987.667480 -2607.408447 38.932766</position>

    <rotation>360</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (11)">

    <position>4002.473633 -2609.225342 38.932766</position>

    <rotation>21</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <spawnpoint name="spawnpoint (12)">

    <position>3966.609863 -2510.685059 123.243568</position>

    <rotation>271</rotation>

    <vehicle>520</vehicle>

  </spawnpoint>

  <object name="object">

    <position>4046.945557 -2438.082031 0.432824</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>3268</model>

  </object>

  <object name="object (1)">

    <position>4037.311768 -2429.162598 0.733218</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (2)">

    <position>4037.438232 -2431.979492 0.684557</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (3)">

    <position>4037.689209 -2435.429688 0.304725</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (4)">

    <position>4037.689209 -2436.754395 0.284623</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (5)">

    <position>4037.689209 -2439.204590 0.707337</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (6)">

    <position>4037.689209 -2434.004395 0.769105</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (7)">

    <position>4037.689209 -2430.279297 -0.017609</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (8)">

    <position>4037.189209 -2430.479492 0.830036</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (9)">

    <position>4037.689209 -2433.679688 0.126953</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (10)">

    <position>4037.689209 -2433.304199 0.500825</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (11)">

    <position>4037.689209 -2431.429688 0.362027</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (12)">

    <position>4037.139404 -2432.804199 0.643298</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (13)">

    <position>4037.489014 -2429.729492 0.000294</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (14)">

    <position>4037.489014 -2430.704590 0.035471</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (15)">

    <position>4037.689209 -2428.954590 -0.008760</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (16)">

    <position>4037.527832 -2434.375488 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (17)">

    <position>4037.377441 -2429.625488 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (18)">

    <position>4037.302734 -2430.925293 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (19)">

    <position>4037.552734 -2434.875488 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (20)">

    <position>4037.302734 -2429.425293 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (21)">

    <position>4037.302734 -2436.098633 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (22)">

    <position>4037.302734 -2437.400391 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (23)">

    <position>4037.252930 -2437.625488 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (24)">

    <position>4037.302734 -2438.425293 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (25)">

    <position>4037.302734 -2438.225098 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (26)">

    <position>4037.277832 -2438.824707 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (27)">

    <position>4037.252930 -2428.400391 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (28)">

    <position>4037.302734 -2439.650391 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (29)">

    <position>4037.302734 -2440.150391 0.649150</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (30)">

    <position>4037.477051 -2440.399414 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (31)">

    <position>4037.302734 -2434.650391 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (32)">

    <position>4037.302734 -2431.475098 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (33)">

    <position>4037.302734 -2432.425293 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (34)">

    <position>4037.152344 -2433.274902 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (35)">

    <position>4037.302734 -2433.726074 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (36)">

    <position>4036.877441 -2434.000977 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (37)">

    <position>4037.302734 -2440.925293 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (38)">

    <position>4037.302734 -2441.675293 0.649150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (39)">

    <position>4036.712158 -2446.753906 0.611733</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (40)">

    <position>4037.312744 -2442.104492 0.612000</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (41)">

    <position>4037.587646 -2442.679199 0.416152</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (42)">

    <position>4037.062744 -2443.378418 0.708121</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (43)">

    <position>4037.381104 -2443.920654 0.889769</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (44)">

    <position>4037.837646 -2443.904297 0.006150</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (45)">

    <position>4037.230225 -2446.758545 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (46)">

    <position>4037.455322 -2444.334229 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (47)">

    <position>4037.430420 -2442.359131 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (48)">

    <position>4037.430420 -2444.833252 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (49)">

    <position>4037.430420 -2446.109131 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (50)">

    <position>4037.430420 -2445.609131 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (51)">

    <position>4036.930420 -2445.009521 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (52)">

    <position>4037.430420 -2442.359131 1.004291</position>

    <rotation>0.000000 -0.150000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (53)">

    <position>4035.702637 -2423.839355 0.305245</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1211</model>

  </object>

  <object name="object (54)">

    <position>4056.851563 -2428.081055 0.485514</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>7416</model>

  </object>

  <object name="object (55)">

    <position>4036.048584 -2329.165771 5.091953</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>3989</model>

  </object>

  <object name="object (56)">

    <position>4080.113525 -2402.628906 3.766761</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16349</model>

  </object>

  <object name="object (57)">

    <position>4083.344238 -2456.175537 3.984297</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16346</model>

  </object>

  <object name="object (58)">

    <position>4013.591064 -2462.250000 3.766763</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16346</model>

  </object>

  <object name="object (59)">

    <position>4013.327881 -2458.920410 4.789939</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16345</model>

  </object>

  <object name="object (60)">

    <position>4010.833740 -2395.377686 3.766763</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16342</model>

  </object>

  <object name="object (61)">

    <position>4045.326904 -2436.849365 12.372204</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>16340</model>

  </object>

  <object name="object (62)">

    <position>4026.897705 -2507.633789 0.253447</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>5115</model>

  </object>

  <object name="object (63)">

    <position>4064.863037 -2543.761475 10.090725</position>

    <rotation>-1.570796 0.000000 0.000000</rotation>

    <model>1612</model>

  </object>

  <object name="object (64)">

    <position>4112.152832 -2491.389404 5.653655</position>

    <rotation>-1.570796 0.000000 0.000000</rotation>

    <model>10831</model>

  </object>

  <object name="object (65)">

    <position>4037.187500 -2656.894531 1.004938</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>10771</model>

  </object>

  <object name="object (66)">

    <position>3948.861084 -2654.614014 32.859795</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>10793</model>

  </object>

  <object name="object (67)">

    <position>3970.076904 -2657.118896 0.794102</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>10771</model>

  </object>

  <object name="object (68)">

    <position>4042.770020 -2326.910889 11.903549</position>

    <rotation>-9.228425 0.000000 0.000000</rotation>

    <model>3401</model>

  </object>

  <object name="object (69)">

    <position>3965.961914 -2511.027344 21.594093</position>

    <rotation>1.570796 0.000000 0.000000</rotation>

    <model>4002</model>

  </object>

  <object name="object (70)">

    <position>4083.357666 -2456.227783 0.520579</position>

    <rotation>1.374447 0.000000 0.000000</rotation>

    <model>3243</model>

  </object>

  <object name="object (72)">

    <position>4086.585449 -2362.245117 9.626015</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>4165</model>

  </object>

  <object name="object (73)">

    <position>3984.032227 -2487.413086 3.889473</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1675</model>

  </object>

  <object name="object (74)">

    <position>3983.856201 -2570.489990 -0.736807</position>

    <rotation>1.767146 0.000000 0.000000</rotation>

    <model>7240</model>

  </object>

  <object name="object (75)">

    <position>4086.938477 -2619.486572 0.170295</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>6985</model>

  </object>

  <object name="object (76)">

    <position>4037.337402 -2437.263916 1.829165</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (77)">

    <position>4037.110596 -2436.656738 1.621832</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (78)">

    <position>4037.046387 -2437.758057 1.581507</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (79)">

    <position>4037.046387 -2435.608643 1.581507</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (80)">

    <position>4037.231445 -2445.444824 2.142679</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (81)">

    <position>4038.202148 -2443.225586 0.891271</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (82)">

    <position>4037.349854 -2439.841064 1.802675</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (83)">

    <position>4037.400879 -2439.138184 1.783978</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (84)">

    <position>4037.310547 -2440.535156 1.808988</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (85)">

    <position>4037.140381 -2440.523682 2.974553</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (86)">

    <position>4037.234619 -2439.850098 2.988860</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (87)">

    <position>4037.266602 -2439.196045 2.959579</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (87)">

    <position>4036.977051 -2429.091553 1.752339</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (88)">

    <position>4036.906006 -2429.113281 2.948554</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (89)">

    <position>4036.973633 -2436.047119 1.680997</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (90)">

    <position>4037.134277 -2441.176025 1.742680</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (91)">

    <position>4037.162109 -2441.155273 2.945176</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (92)">

    <position>4037.041504 -2440.745361 4.097569</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (93)">

    <position>4036.947998 -2439.944092 4.058375</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (94)">

    <position>4036.841797 -2440.202148 5.151357</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (95)">

    <position>4036.574219 -2440.126953 6.245750</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1225</model>

  </object>

  <object name="object (96)">

    <position>4011.058594 -2271.181152 22.521460</position>

    <rotation>3.141593 0.000000 0.000000</rotation>

    <model>14548</model>

  </object>

  <object name="object (97)">

    <position>4012.363770 -2343.837402 8.005241</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>3402</model>

  </object>

  <object name="object (98)">

    <position>4095.929443 -2492.630615 0.726891</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>972</model>

  </object>

  <object name="object (99)">

    <position>4035.026367 -2439.729004 0.482395</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>972</model>

  </object>

  <object name="object (100)">

    <position>4044.052979 -2271.263428 12.113269</position>

    <rotation>1.570796 0.000000 0.000000</rotation>

    <model>18450</model>

  </object>

  <object name="object (101)">

    <position>4044.084229 -2189.788086 15.025209</position>

    <rotation>1.570796 0.000000 0.000000</rotation>

    <model>18450</model>

  </object>

  <object name="object (102)">

    <position>4037.106445 -2196.141357 22.780262</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>3381</model>

  </object>

  <object name="object (103)">

    <position>4038.354248 -2235.533203 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (104)">

    <position>4039.090576 -2235.520508 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (105)">

    <position>4039.698975 -2235.543213 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (106)">

    <position>4040.297119 -2235.594971 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (107)">

    <position>4040.688232 -2236.090332 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (108)">

    <position>4043.769043 -2236.505371 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (109)">

    <position>4042.748779 -2234.664551 12.956855</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (110)">

    <position>4047.850098 -2236.438232 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (111)">

    <position>4046.789551 -2234.907959 12.933086</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1222</model>

  </object>

  <object name="object (112)">

    <position>4046.284668 -2243.076904 13.757132</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1632</model>

  </object>

  <object name="object (113)">

    <position>4038.065186 -2456.046387 1.764706</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1257</model>

  </object>

  <object name="object (114)">

    <position>3808.187500 -2372.725830 -2.162940</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>1243</model>

  </object>

  <object name="object (115)">

    <position>4037.004150 -2439.810547 0.724518</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (116)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (117)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (118)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (119)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (120)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (121)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (122)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (123)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (124)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (125)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (126)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (127)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (128)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (129)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (130)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (131)">

    <position>4036.784668 -2437.903809 0.995910</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>2780</model>

  </object>

  <object name="object (132)">

    <position>4044.558838 -2184.478760 4.604948</position>

    <rotation>0.000000 0.000000 0.000000</rotation>

    <model>4085</model>

  </object>

  <pickup name="vehicle change pickup">

    <position>4044.225098 -2436.874756 14.461445</position>

    <type>vehiclechange</type>

    <vehicle>521</vehicle>

  </pickup>

  <pickup name="vehicle change pickup">

    <position>4042.907227 -2301.302246 13.957019</position>

    <type>vehiclechange</type>

    <vehicle>445</vehicle>

  </pickup>

  <pickup name="vehicle change pickup (1)">

    <position>4039.839844 -2283.783203 13.957019</position>

    <type>vehiclechange</type>

    <vehicle>445</vehicle>

  </pickup>

  <pickup name="vehicle change pickup (2)">

    <position>4044.722168 -2280.033691 13.957019</position>

    <type>vehiclechange</type>

    <vehicle>461</vehicle>

  </pickup>

</map>
